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Factoring Review Homework |

( "actor by taking out the GCF

1) 8x2% - 16x 2) 24r%2—e6r* 3) 64ab* —16a
Factor by Grouping
4) x3+2x%+5x+10 5) x3—4x*+x-4 6) 2x3—8x?—3x+12

Factor Trinomials (always take out the GCF first!!!)

8) 4x? + 34x + 42 9) x2—5x+6

7) 7x? —31x— 20

Factor Special Products (perfect square trinomials and difference of squares)

10) 49x% — 100 11) 9x? —6x+1

Why are these not factorable?

12) x*+x+5 13) 2x2—-x-7

Solve by Factoring (Get everything to one side first! Then factor. Then use the Zero Product Property.)

14) 4x>-9x+2=0 15) x2+2x =15

L"16) 3x2=2x+1 17) 2x2=13x+7
There is a back!
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18) 6x%2+x =5

Word Problems

20) The height of a diver above the water duri
feet and t is time in seconds. Find the time itta

19) 5x2—-x—-18=0

ng a dive can be modeled by h = —16t2% + 8t + 48, where h is height in
kes for the diver to reach the water.

21) The length of a rectangle is 1 foot less than 3 times the width. The area is 310 f t2.

Find the dimensions of the rectangle.

Critical Thinking

22) Can you solve (x — 2)(x + 3)
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=5bysolvingx—2=5andx+3=5.Whyorwhynot?
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